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1. 20224 hEHAD E#E 4 (202244 B 1B ~20224£9 A308) (A A AKX )
(1):BHERERE
U (%) EE T mang  |POLAZERETS
BAH BAH BAH BAH
202249 A HhfsHA 47,904 473 1,695 82
202149 A s #A 45,379 729 898 1,031
796 A 948

B

(2)BHEBABUKRE
B=5EA B=5EA =5EA
202249 A FhfE#A 64,894 56,792 121,686
202253 A #A 61,332 50,289 111,622
202149 A FhfE#f 55,854 54,230 110,085
RENAE EE&E fE
BH5EA BH5EA BH5EA
202249 A HfE £ 44,532 40,611 36,542
202243 B £ 40,332 39,388 31,901
202149 A S A 39,336 36,673 34,076
ARTaERE | oA HEEF
BH5EA BH5EA BH5EA
202249 A HfE HA 47,871 29,705 34,750
202243 B £ 45516 28,485 30,023
202149 A S fE A 41,900 26,390 32,201
B FyID/EL A BOEARLER
202249 A HfE A 145.7% 85.5% 28.6%
202253 A #A 152.1% 94.9% 26.9%
202149 A S fE A 142.0% 82.0% 29.3%




2. 2022 EEA D B A ZEAE (20224 A1 A ~202259 A 30H) (B AMXRELIE)

(1) BRI E RE
UREE () XA FEHE H e ol F1) 25
a5 a5 B5AA B5MA
202249 A eI 23,432 531 1,643 51
20214E9 A R 22,937 265 994 1,006
R 495 266 649 A 954

(2) BA{RBABUIKRE
EVle EVle EVle
202249 A FfEHA 36,855 51,026 87,881
202243 A £f 34,729 44,385 79,115
202149 A FhfE A 31,135 47,438 78,573
REEE EE&E B E
=AM =AM EpdE]
202249 A dhfE A 29,177 35,025 23,678
202243 A £f 25,658 32,787 20,669
202149 B HhRSHH 25,927 29,947 22,698
BHTEERS g HEEA
=AM EpdE] EpdE]
202249 B HhRSIHH 37,083 31,951 23,678
202243 A £f 34,987 29,430 20,669
202149 A FhfE 31,602 26,733 22,698
TREIELER $wD/ELIA HE&ARLLE
202249 A thRE A 126.3% 134.9% 26.9%
202253 A #A 135.4% 142.4% 26.1%
202149 B s EA 120.1% 117.8% 28.9%
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2. REDBEEREITOVTIE, FRISTEHLTEYES,
TECEARGER) ) = EE I —TFEXFMBEEFH
TECEA(HK)) = MHi&EE]
TECEALE| =TECER] + HREE]
TRBILLE) = TRBEE] ~ [REBAE)
TERIFEE = TREBALES ) + T#E&E]
IRy EFTFREI-TEHTEE — TBERUES)
I#ybD/ELIF I=TRybEFIFEBEESI-TBEER]




